Maisonette Duplex in Marsascala



Reference No: 240271044-817

Marsascala, South



€390,000

Total Rooms: 6

Bathrooms: 0

Floor Area (m²): **152**

Bedrooms: 3

Maisonette Duplex - For Sale - Marsascala

MARSASCALA - New on the market is this very well kept duplex maisonette situated in a very tranquil area. Property consists of a kitchen/dining, separate living room ,main bathroom on first floor. On second floor one finds three bedrooms and another bathroom. Property also enjoys full roof and air space where one finds also a laundry room at roof level. Property will be sold fully furnished and ready to move into. Optional garage is also available. Call now agent to set up an immediate viewing!!

Features

- ✓ Kitchen/Dinette
- Gypsum Plastering
- Double Glazed
- Balcony
- Video Intercom

- Entrance Hall
- Skirting
- Air Space
- Roof Terrace

Rooms

- Kitchen/Dining: 4.9 x 4.5 m (22.05 m2)
- ✓ Sitting: 4 x 3.8 m (15.2 m2)
- ✓ Single Bedroom : 2.8 x 2.5 m (7 m2)
- Double Bedroom : 4.4 x 4.5 m (19.8 m2)
- ✓ Double Bedroom : 4.2 x 4.1 m (17.22 m2)
- ✓ Laundry: 1.2 x 3.5 m (4.2 m2)
- Hallway: 8.7 x 2.5 m (21.75 m2)

Gallery



























Ian Fenech RE/MAX South - Marsascala

M: 79044543

E: ianf@remax.com.mt

T: 21555000

RE/MAX South - Marsascala 60,Triq is-Salini, Marsascala, Malta